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QUESTION 1

All pool members are online. All other virtual server settings are at default. 

What might after the load balancing behavior? 

A. enabing SNAT automap 

B. enabing a falback host in the http profile 

C. adding a oneconnect profile 

D. adding a persistence profile 

Correct Answer: D 

 

 

QUESTION 2

When upgrading a BIG-IP redundant pair, what happens when one system has been updated but the other has not? 

A. Synching should not be performed. 

B. The first system to be updated will assume the Active role. 

C. This is not possible since both systems are updated simultaneously. 

D. The older system will issue SNMP traps indicating a communication error with the partner. 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 

How many nodes are represented on the network map shown? 

A. Four 
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B. Three 

C. One 

D. Two 

Correct Answer: B 

 

QUESTION 4

Monitors can be assigned to which three resources? (Choose three.) 

A. NATs 

B. pools 

C. iRules 

D. nodes 

E. SNATs 

F. pool members 

G. virtual servers 

Correct Answer: BDF 

 

QUESTION 5

Assuming that systems are synchronized, which action could take place if the fail over cable is connected correctly and
working properly, but the systems cannot communicate over the network due to external network problems? 

A. If network failover is enabled, the standby system will assume the active mode. 

B. Whether or not network failover is enabled, the standby system will stay in standby mode. 

C. Whether or not network failover is enabled, the standby system will assume the active mode. 

D. If network failover is enabled, the standby system will go into active mode but only until the network recovers. 

Correct Answer: B 
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